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For each question flom 1 to 28, four options are given, One of them is the corrsct answer.
Make your chioice (1,-2,3 0r 4} anid shiade your answer ori the Optical Answer Sheet.

(56 marks)

1 Sherry found a _bférit in the garden and measured its height.
After two weeks, she measured ifs height again:

Atthe start After two weeks

From her observation, Sherty concluded that the plantis a fiving thing because it cah

ﬁ) Qrﬁw |
(2) breathe

(3) reproduce

(4y respond fo changes

2 Fourstudents made the following statements about fungi.

Statement

{ A

Fung! reproduce from spores.

Betty _ I

Fungf can make thesr own food

Fung‘ i can be harmful or useful to man.

| Dawn

Fungi can be seen only under-a microscope.

Who have made the correct statements?

(1) Aliand Betly only
{2) Ali and Carl only
(3) Bettyarid Dawn orily
(4) Cartand Dawnonly
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3 Studythe flow chatf,

Animal

Question A

Question B

ariphibians:

Which of the following shows the correct questions for A and B?

“QuestionA [ Question B
(1) | Gives birth o its young? Has scales as outer Govering?
(?) | Gives binih 16 s young? | Has moist skin as outér covering?

(3) | Lays eggs? ' Has scales.as outer covering?
(4) | Lays eggs? Hasfurasou‘taroovenng’? '

.
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4  Which human systemis shown in the diagram?

(1) skeletal system

{2) wmuscular system
(3) direulatory system
(3) respirstory system

5  Study the diagram below.

Which of the following:stiows how food travels through the digestive system before
the digested food enters the blood?

{f) R38§2>T>U

2) R>T38>U

(3) P2Q>R>T

# P>Q>R>S
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&  Which of the following statements about the buman digestive systern are correct?

Digested food is absorbied in'the stomach.

Digestive juice-is present in the small intestine,

No digestior takes place in the large intasfiie.

Water is absorbed from the digestéd food in the laige intesting.

(1) AandBonly
(2) BandC only
(3F A, CandD only
(4) B, Cand Donly

7 The diagram below shows the life cycle of-an animal;

adult | " nymph

o

Which animal Is likely to have the life cycle as shown above?
(1) chicken |

(2) butterfly

(3) beetle

(4} cockroach




8

Study the life. cydles of plant A and animal B.

Life cycle of plant A Life cycle of animal B

Which statement correctly describes the life cycles?

(1) Animal B have all its stages in water.

(2) Théyoung of both plant A arid animal B look fike the adults.

(3) Plant A and apimal B have different riumber of stages in their ife cycles.
(4) PlantA and anfmal B have the sare number of stages in their jife cycles.

The diagram below shows a flowering plant:at different stages.

Which of the diagrams above most likely show the plant in the adutt staga?
(1) Band Donly

2) B.C and D only

(3} Aand Conly

(4) A, Cand B anly
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A0 Which par, (1),(2), {3) or (4), maKes fod for the plant?

- (£}

@

)

TN ——

11 Atree fell to the ground during a thunderstorm as shown in the diagram.

A week later, the-tree was dying as it could not:_
{1) stand upright

(2) trap enough.sunlight

(3} absorb water from the soil

(4)  support the branches and leaves




12

lLe& Ming. wanted to ﬁnd out if the numberaf leaves of a plant would affect the
volume of waterit absorbed. He chose three similar types of plants, A, B-and T but
withy different number of leaves as shown below. He placed the plants into three
identical beakers with the same volume of water and left them in the-garden.

~—| —water - water

- | — beaker

Plant A Plant G

After a week, he measured the volume of water left in each beaker and recorded the
resuls in the table below.

“Plant | Velume of water at first (ml) | Volume of water left {ml)
A 60 —a
5 =50 : : — 55
© | 600 300

Based gn the results in the table, what is the most likely concliision of the

experiment?

(1) The plant with no leaves did not absorb any waler.

(2) The numberof leaves does not affect the volume of water absorbed by thé plant.

(3) The plant with the greatest number of leaves absorbed the most voltime of water.

(4) The greater the number of leaves, the greater the volume of water left in the
beaker.
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14

The diagram shows.a hamer,

Metal is usied to make the hammerhead of the hammer because metal
(1) is shiny '
{2) does: not break easily

(3y ¢an bend without breaking

(4} s & good conductor of heat

Study the diagram below.

Both objects have the same__ .

(1} size
(2) mass
(3) shape
(4) volume

BP-~889
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15  inwhichione of the following will the two magnets push each other away?

(1) {2)
s|{n s N s |IN s
N
@ | @)
s s |
NN | N
s

16  Object A was attracted to a magnet, as shown in the figure below.

4.

magnet — | |
object A
Object A Is made of
(1) rubber
(2) plastic
(3) woed
(4) steel

10



17 Which of the following is 4 sourse of light?
om P @

{(3)

a candle flame:

18 Ali places a metal spoon in & cup of hot milk.

metal spoon

a cup of hot milk

The spoon becomes hotier after g while,
Which one of the following explains this?

(1) The eup loses heat 16 the hot milk.

(2) The spdon gains heat from the hot milk.
{3} The hot milk gains heat from the-spoon.
{4) The spoon loses heat tothe hot milk.

11

4

the moon

an appie
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19 A sealed metal container holds 200 om® of water and 100 cm® of air as show in
the diagram below. - - .

100 e of air ~——ol—

- mefal cohtainer
/

200 ¢m® of water —

Then, another 50. cm® of airwas pumped into'the metal container.

What was the final volume of air in the container?

(1) 6dom?

(2) 100cm®
(3) 150 o
(4) 200cm®

30 Tre following expeiiiment was set up to measure the volume of a ball

- beakerwith: a spout
water

stand ~-measuring cylinder

Vihich of the following statements ate comect so that the volume of the ball can be
measured accurately?

A The mass of ihe ball must be measured first.

B The ball must be fully immersed in the water.

€  The ball must be placed gently into.the water.,

D  The water level in the measuring cylinder must be reed at eye level.

(1) Asnd C only
(2) A,BandD only
(3) B,CandD only
{4) A/B,GandD
12



21 Fifemen wear fhe elothing 4s shown whehithey potout fires.

Based on the properties shown bel
firemen’s clothing?

| Material

- Properfy

Flexible

‘Waterproof

Good conductor
~ of heat

W

v

®

X

v’

@)

@

o o m »

X
v

v
Y

v
X

13

fow, which material s most suifable for making the

Key:
v iyes
X:no
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33 Siti condicted an experiment on three types of strinigs F, G and H by hanging weights

from eaich stfing. She increased the weights until the string broke. The maximum weight

tht the strings could hold before breaking is as shown below.

weights

Siti tried hanging different welghts in different arrangements.

Which ene of the following arrangements would be possible?

(U]

14
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23 Jaymie wanted 1o find out if iHa nufnbier of batferiss will affeet the:magnetic strehigth-of
an iron nail coiled with veires. ‘ .

Set-up A Set-up B
(10 tumns. of wires around the nail) (10 tums of wires around the nail}

Set-up C Setup D
(20 tums of wires around the nall) (20 tumns of wires around the naif)

Which two setups should she use In orderto cagry out a fair test?
(1) AandC
(2) AandD
3) CandD
(4) Band G

15
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24 Magnets with poles P, Gt and R wefe on a toy frain as shown i Diagram 1.

cartiage efidine

Po’te{-’ of Poled g \ Pole Rof
magnhet - magnet magnet
Diagram 1

When Jim tumed the carriage around, the engine and cartiage were pushed apart as
shiown in Diagram’ 2.

car_riagg '
moved left T

PoleQof  PolePof  PoleRof
magnet magnet. magnet

Diagram 2

Which of the following Is correct about the poles P, Qand R of the magnets?

Poles 6f magnets
Q

ar
S
@
1)

vl z| zt ol u
ol ol ul 2z

|z o Zl =zl 3

16
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25 ‘rvIVhen Gopatwas stand“ng i frowit of the bookshelf asshown Below, he could not see:
is mother.

_bookshelf

m

..Gcélp_.ai
Which one of the following statemenits explains why Gopal could not see his mother?
(1) Hismother did not reflect light,

(2) His mother did not give off light,
{3) The bookshelf did not give off light:
{4} The bookshelf did not allow lightto pass through.

17




26 The sef-up below shaws light shining on three wooden objects A, B and G of different
shapes but of thé saime height. They are placed at different distances from thetorch.

screen
L~

lit torch

The diagram below shows the shadow of the-objects on the screen.

. scregn;

What.are the shapes of objects A, B and C?

o

@

s r—

(4}

18
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27 Theringand the ball shown below were mads of the same maferial,

g bal

At room temperature, te ball was unable o pass thiough the ring. After heating the
ring for 2 while, the ball was able fo pass through the ring.

Which of the following explains what had happened tc the ring'and the ball?

The ring ] The ball

(Y] ovpanded T T Gontraced

@] “remmained the samie Size T ‘coritracted

@2 Tepanded | remaner samesize |

[Z3Y] remained the same size ' remained the same size

]

tea Into each cup. Cup X was too hot to hold but he ¢an hold cup Y easily as shown.

28 Davish had two cups, X and Y, made of material Q. He Poured an equal volume of hot

. material Q

cup X

cup Y

Which of the following best explains why Davish could hold cup ¥ easily but not cup'X?
(1) CupXisa beiter cohduetor_ of heat than cup Y.

(2) Cup Y'is apoorer conduttor of heat thani cp X,

{3} His handis fiirtther from the heat souice in cup Y.

(4} Gup Xis a good conducior of heat but the handle of cup Y is a poor conductor of
heat, '

End of Booklet A

18 (Go onio Booklet By
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‘For questions 29-to 40, write your answers in this booklet. )
The Rumber of-marks available is showr in brackets [ ] at the end of each question or part
question, : ’

__ (44 marks)

29  The diagram below: shows a fish-tanic.

water —— -airbubble from

the air purmp

pl-ant : \ _- L - - &ir pump
. ! ' ' water snail
fock

(a)  Identify two living things labelled in the diagram ahove, -
W

{(b) Identify two non-living things labelled in the diagram above. 13

() » (i)

{¢) When the air pump was not switched on for a while, the fish were ofterr seen [1]
swirnming near the surface of the water. Give a reason for this cbservation.

{continues on next page)

| SCORE

BP-902




{d

{e)

There Was no new fish added into the fi
tank increased after a few wesks. Explain why.

sh tank but the number of fish in the [1)

The snail hid in its shell when the fish went near it.
What charactefistic of iiving things does this show?

o

| score
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30  The diagram below shows the human digestive system.

(a)
(b)

(e)

idenitify the part where

digestioti first takes place:

digestion is. completed:

no digestive juice is produced: ___.

i1
(1]

2]

BP-904
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3t John ate a heavy meal. The graph below shows the amount of undigested food
leaving each srgan P, 4, R, Sand the large intestine after thie heavy: migal.

&

Amount of

undigested.
food

(umits)

' ; organ
large

intestine

(a) Which organ, P, Q, Ror § represents the small intestine? Give = reason for
your answer.

(2]

(b)  John was told that chewing his food. before
how chewing the food helps in digestion. 121

swallowing helps in digestion, Explain

SCORE
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32(a) Classify the following animials according 1o the nuimber of stages in thelr life

- cycle.

2]

beetle grasshopper

Three Stages

Four Stages

(continues or riext page)

SCORE
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The diagram below shows the [ife cycle of an Aedes mosquito,

The diagram below shows the Aedes mos
harmful to humansas it will siick the blood

to: humans.

(b)  Based on the information given, name the stages of the life cycls of the

mosquito which are represented by each letter in the table befow.

Letter

Name the stages of the life cycle:

w

iy

fc}  Atwhich stage of the life cycle of the mosquito will it be e hardest to
prevent the spread of dengtie fever virus. Explain why.

quita at stage W. The mosquitois
and spread the dengue féver viris

SCORE
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33

(a)

(b)

(c)

Siff coriducted an experiment with four different raterials, P, Q, Rand S. Sha placed

material P on top of two wooden blocks. Then, she kept adding weights to the centre
_ of material P until it broke. She repeated the experiment with materials Q; R and S,

one atatime.

7/

* wooden blocks

The table below shows the maximum amount.of weights each material can hold
before breaking.

ators Maximum amount of weights each
Materl material holds (kg)

P | ,

4

2

VAR AN-A1

12,

What physical property of material was Siti testing? 11

Which material, P, @, R or S Isthe weakest? Give a reason for your answer. 1

Siff's books weigh around 8kg. Which material, P, Q. R of S should she use
to make & bag to carry her books? _ o
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34 K'umarwanfgd ta find out if the: ping made of differert materials can be attracted by
the magnet. He bioughit a magnet near 4 tray of pins made of different materials.

magnet

pins

pins

(a) Which variable(s} should Kumar keep the same or change so that his
experiment is a fair one? 2
Tick {¥) tha correct boxes, "

- fray of plns

Variables Keptthesame | Changed

t shape of magnet

| distance between
| magnet and pins

| material of pins

length of magnet

(b) Some of the pins were attracted fo the fnagnet as shown above.
What material are the pins made of? [}

(¢} Explain why the poles of the magnet could attract the most number of pins.  [4]

SCORE
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35

(a)

(b)

‘The diagran below stiows how Jane seges her cat at night.

- lamp

The - ..__fromthe lampis - by the cat and 2]
enters Jane’s eye,

Jane observed that a shadow of her ¢at had formed 6n the ground.

State how a shadow is formed. [}

SCORE
10
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‘36 Bella wanted to instali some blackout curtains for hei room. Blackout curtains are
designed 1o block out light completely. Sha was given four types of materials W, X, Y
and Z to choose from to make her curtains. She used a datalogger with 4 light sensor
to record the amount of light that passed through each material,

material

an opaque I
the material | Y
' e

light source datalogger

The graph below:shows the Fesult of her testing.
Amourit of fight (unit)

‘ material
 material
X

material .
w  material |
Y

o _ | Time {min)

(a)  Fillin the boxés to arfangs the materials; W, X, Y and Z in order of. [11

transparency.

Allow most light ——_, Allow least light
to pass through to pass: through

(b)  Which material, W, X, Y or Z should she choose to make her blackout curtains? 2]
Explain. your answer,

11 " 3




37 Thediagram below shows a jug of orange juice.

(a} Circle the comect state for the following things:

(i) orange juice: ( solid / liquid /gas ) [1]

{ii) jug : { solid ! liquid fgas ) M

Kelly poured 100 mi of orange juice into glass'A and glass B respectively.

The volume of orange juice is the same in sach glass but its shape is different.

(b) Based onthe information, state a property of the orange juice as shown above. [1}

SCORE |
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38 Sharon setup an experiment hers she filled a-measuring beaker to. 40 &m® with dry
sand.as shown below in Figure 1. Then, she poured 50 em?of water into the measuring
beaker with the sand as shown in Figure 2, ‘ : o S

60 om® of water

——— iMeasuring beaker

magrified view & L
of the dry sand Figure 1 -

(@)  What s the total volume of the mixture of water and sand in the measuring beaker in
Figure 27 Tick ( v )the corract biox. ) ]

100 ony®
[ ] between 40 cm* and 100 cm®

[::] riore than 100 ¢m?

{b)  Explain your answer in (a). : gl

(continues on next page)
| SCORE /

| 2
13 °
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39

{a)

(b)

Sharon placad four different objects inside four identical emply containers. Then, she:
poured water into each container to thie brim as shown:below.

container A container B container C container D

Which cointainer, A, B, C or D has the least volurne of water poured jnto it?
Explain youranswer. | [1]

Mrs Lee boiled some soup in a pot as shown below.

plastic handle

metal pot.

~ fire

() Thehandle is made of plastic because itis a ~conductor of heat.
{1

(i) The potis made of metal because itis a conductor of heat.
)

Mrs Lee turhed off the firs and she-oliserved that the temperature of the soup in the
pot decreased after half an hour, Give a reason for her ohservation. 1]

SCORE

14
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40 Fatimah had two similar containers, A and B which were made of different materials,

She placed 100 mt.of cold water into ach container and inserted a thermomater nto
each container as shown below:

2 thermometars -

container A container B

She left the containefs on  table in the ciassroom and recorded the temperature of
the:water every 10 minutes. Her results are shown ifi the table beiow,

Time |  Temperatifs of the water (°C)
(minvtes) " ContamerA Container B
o 5 _ 5

10 ' g = BNy
20 13 56
30

40

17 - 25
21 28
60 28 28

(a) Based on the fable, state the temperature of the surroundings in the classroom. ]

(b) Fatimah Wwanted o bring a container of cold juice for her picnic. Based on her
experiment, which: container, A or B should Fatimalt use to keep her juice cold for g
longer fime? Explain your answer. [2]

END OF PAPER | SCORE
15

BP~015




BP-916



ST. HILDA’S PRIMARY SCHOOL
PRIMARY 4
END-OF-YEAR EXAMINATION, 5024
SGIENCE
Simplified Answer Key

Booklet A

NI 16. 21, 26,

12 | 17. 2

; 2? 1

| S

13 18, | 23 28,

9, 14, 19, 24,

WA TN W W
Winlnlwls
B el

15, | 20.

R R~ R N
I
L-RN I I Y-S I - XY

| 10, ]

fen s

25,

Booklet B

29(a) | fish / plant/ snail

{b} | aif bubbie 7 alr pump 7 rock / water ] alr 7glass tank _

{6) | There was nof enouch air in the watar for the fish 1 stay Sve.

{d) | The fish reproduce,

(e} | Living things respond o changes..

@A B0 (0B, E

| 31631 5. The amount of undioesiag

¢ 2mount of undigested food decreased the most,
place in the small intestine.

Most digesfion take's

(b} | Chewing the food thoroughly breaks dowin fia food e smaiic iees, It
increases the:exposed surface.
ltiices. Digestion will be faster.

area of the food Iy contact with the digestive

'32{a) | Thres-stages: chicken, grasshopper

——— Four stages: butterfly, beetle
(b} | W: adult; X:'egg; Y: larva; Z: pupa.

| water so it is harder o eateh.

(c) | Adult stage. The adGlE mosquito will be Bying i the & and o Tongar T the

33z [ Strengih _

{b) | R W ean hold :the‘lea'st amount of weights before breaking.

{€) |'S, It cin hold the most amount

{ when she uses itto eany her books.

Id jount.of weights before breaking. Matenial 5 s fhe.
stfongest. Wher) shie uses matetial S 16 make her bag, her bag will fiot break

BP-917




- 34(a)

Variables | Keptthe same | Changed
shape of magnet_____ ' .
distarice between
thagnet and pins

| material of pins____
ength of magnet

(b)

Steel ! irony T mckei Ji cobatt

(c) | The magret is the strongest atits pales ‘
35(a} Thel ghtfrom the tamp is. reﬂected by the cat and enters Jane's eye.
{b) | A shadow is, formied when the patl of I:qht is. blocked by an object.
Alowmosthght ______ Alowleastlight
topaggthrough - . to pass thypugh
(b) | Waterial Y, It allows no _lighf fo_pass throu Vh This: shows that material Y is

.opaque and it will block out light compietely whiet used as a blackouit curtain.

| 37a)

[ hqwd (n) sohd

{0} |

The orange ju:ce “does nothave a definite shaps.

38(a)

betwesn 40 cm® and 100 ofri®

®):

The water will oceupy the alf spacés between the sand particles,

(c)

Gontainer D. The oblect has the biggest volume .

35()

) poor (i) good

™

The soup lost heat to its surroundmg

[ @0ay.

7]

Gontainer A. The tefmperaturs of watér in. container A ncreased slower than
| that of container B, This shows that coritainer A is & poorer sonductor of heat.
| The cold juiea fn container A will gain heat slower from its surrounding and be

Keptcold fo a longer ine,

BP-918



